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Time : Three hours Maximum : 75 marks 

SECTION A — (10 × 2 = 20 marks)  

Answer any TEN questions. 

1. What is long-term Capital Gain? 

 }sh Põ» ‰»uÚ Buõ¯® GßÓõÀ GßÚ? 

2. What is not included in Capital Asset? 

 ‰»uÚ ö\õzxUPÎ» Gx ÷\ºUP¨£hÂÀø»? 

3. What do you mean by business? 

 Â¯õ£õμ® £ØÔ } AÔÁÚ ¯õøÁ? 

4. Mr. B received Rs. 15,800 as interest from debentures of ABC 

Ltd. (non-listed). Compute Gross Interest. 

 v¸. B Gß£Áº Ámi¯õP ¹. 15,800ø¯ {ÖÁÚ PhÜmk 

£zvμzv¼¸¢x ö£ØÓõº (£mi¯¼h¨£hõux). CÁ›ß ö©õzu 

Ámiø¯ PnUQkP. 

5. State the general income under the head Income from other 

sources. 

 ¤Ó Á¸©õÚ[PÒ GßÓ uø»¨¤ß RÌ EÒÍ ö£õx 

Á¸©õÚ[PøÍ TÖP. 

6. How will you Set Off loss from house property? 

 }[PÒ Ãk ö\õzx CÇ¨¦PøÍ GÆÁõÖ \›UPmkÃºPÒ? 

7. Explain the various categories of ‘Income’. 

 Á¸©õÚzvß £À÷ÁÖ ÁøPPøÍ ÂÁ›. 

8. Bring out any four deduction U/S 80. 

 ¤›Ä 80ß RÌÁ¸® H÷uÝ® |õßS PÈÄPøÍ GÊxP. 
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9. What do you know about Direct Taxes Code? 

 ÷|μi Á› Âv•øÓ £ØÔ }Âº AÔÁx GßÚ? 

10. Write short note on Income Tax Return. 

 Á¸©õÚ Á› AÔUøP £ØÔ ]Ö SÔ¨¦ ÁøμP. 

11. What is meant by Tax Planning? 

 Á› vmhªkuÀ GßÓõÀ GßÚ? 

12. What do you mean by Advance Payment of Tax? 

 •ßTmi ö\¾zx® Á› GßÓõÀ GßÚ? 

SECTION B — (5 × 5 = 25 marks)  

Answer any FIVE questions. 

13. Mr. Arul had bought a residential house on 15.02.2004 for  

Rs. 10,00,000. He spent Rs. 1,70,000 for its renovation on 

11.11.2008. He sold that house on 15.02.2020 for Rs. 30,00,000 

for which he had paid a brokerage for Rs. 20,000. Compute his 

Capital Gain for the assessment year 2020–21. 

  (CII for 2003-04 = 109, 2007-08 = 129, 2019-20 = 289) 

 v¸. A¸Ò Gß£Áº 15.02.2004 AßÖ 10,00,000 ©v¨¦ÒÍ Ãk 

JßøÓ Áõ[QÚõº.  11.11.2008 AßÖ AuøÚ ¦x¨¤UP  

¹. 1,70,000 ö\»Ä ö\´uõº. A¢u Ãmøh AÁº 15.02.2020AßÖ 

¹. 30,00,000US ÂØÓõº. AuØPõP 20,000 uμS PÈÁõP 

öPõkzuõº. 2020&21® Á›Âv¨£õsiØPõÚ AÁ¸øh¯ •u½mk 

Á¸©õÚzøuU PnUQkP. 

  (CII for 2003-04 = 109, 2007-08 = 129, 2019-20 = 289) 

14. What is Capital Gain? What are its types? What capital gains 

are exempted U/S 54? 

 ‰»uÚ Buõ¯® GßÓõÀ GßÚ? Auß ÁøPPøÍ ¯õøÁ? 

G¢öu¢u ‰»uÚ Buõ¯[PÐUS ¤›Ä 54&ß £i Á›Â»US 

AÎUP¨£kQÓx? 
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15. Roy submits the following particulars of income. Find out the 
Income from other sources. 

  Received winnings from lottery Rs. 10,000 

  Income from agriculture in England Rs. 78,000 

  Interest received on deposits with Co-Op Bank Ltd. Rs. 2,000 

  Dividend received from a foreign company Rs. 6,000 

  Dividend received from an Indian company Rs. 5,000 

 ¤ßÁ¸® uPÁÀPÎß £i v¸. μõ´ Cuμ ÁÈ Á¸©õÚzøu 

PnUQkP. 

 »õmh› Á¸©õÚ® ¹. 10,000  

 C[Q»õ¢vÀ ÂÁ\õ¯ Á¸©õÚ® ¹. 78,000 

 Tmhõsø© Á[Q°ß Ámi ¹. 2,000 

 AßÛ¯ P®ö£Û°ß £[Põuõ¯® ¹. 6,000 

 C¢v¯ P®ö£Û°ß £[Põuõ¯® ¹. 5,000 

16. From the following particulars find out the Income from other 
sources for the AY 2020-2021. Directors fees Rs. 22,000, Ground 
rents Rs. 18,000, Dividend from an Indian company Rs. 25,000, 
Royalty from books Rs. 10,000, Dividend from Co-operative 
Society Rs. 2,000.  

 ¤ßÁ¸® uPÁÀPÎß£i ©v¨¥k 2019–2020 BsiØUPõÚ Cuμ 

ÁÈ Á¸©õÚzøu PnUQkP. 

 C¯US|ºPÒ Pmhn® ¹. 22,000; uÍ ÁõhøP ¹. 18,000; C¢v¯ 

P®ö£Û°ß £[Põuõ¯® ¹. 25,000; ¦zuPzvØS Qøhzu μõ¯Ài  

¹. 10,000; TmkÓÄ \[Pzv¼¸¢x £[Põuõ¯® ¹. 2,000. 

17. Calculate the Taxable Income of Mr. Alok Tiwari for the 
assessment year for the particular given below. Income from 
salary 3,00,000 (computed), Income from house property 74,000; 
Income from other sources 1,50,000; Donation to National 
Defense Fund 8,000. 

 R÷Ç öPõkUP¨£mkÒÍ ÂÁμ[PøÍ öPõsk v¸. B÷»õU 

vÁõ›°ß Á›USm£mh Á¸©õÚ® ©v¨¥mk BsiØS 

PnUQkP. \®£Í Á¸©õÚ® (PnUQh¨£mhx) ¹. 3,00,000. 

Ãmk ö\õzx Á¸©õÚ® ¹. 74,000; Cuμ Á¸©õÚ® ¹. 1,50,000; 

÷u]¯ {vUS |ßöPõøh ¹. 8,000. 
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18. Calculate the qualifying amount of Deduction under section 80C 

Rs. (a)  Life Insurance Premium (on his own life) 20,000  

(b)  Contribution to recognized P.F. His own 5,000, His 

employer’s 4,000 (c) Repayment of loan for construction of house 

: Interest 30,000 , Principal repayment 50,000 (d)  Interest 

accrued on NSC amounted to 1,000. 

 ¤›Ä 80C Cß RÌ AÝ©vUP¨£k® PÈÄ öuõøPø¯ Psk¨¤i. 

 (A) B²Ò Põ¨¥mk •øÚ©® (uß B²Ò «x) ¹. 20,000;  

(B) A[RP›UP¨£mh ÷å© |»{vUS AÁμx £[S ¹. 5,000; 
AÁº {¯ª¨£õÍº £[S ¹. 4,000; (C) ÃkPmh Áõ[Q¯ 

PhÝUPõÚ Ámi ö\¾zv¯x ¹. 30,000 ©ØÖ® A\À ö\¾zv¯x 

¹. 50,000; (D) ÷u]¯ ÷\ª¨¦ £zvμ® «x ÷\º¢xÒÍ Ámi ¹. 

1,000. 

19. What are the provisions of Income Tax Act regarding 

rectification of mistakes? 

 uÁÖPÒ \›UPmkuÀ öuõhº£õÚ Á¸©õÚ Á› \mh ÂvPÒ 

¯õøÁ?  

SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

20. From the following particulars, calculate Capital Gain. 

  (a) (i) Sale consideration of residential house Rs. 75,00,000 

on 26.10.2019 (CII — 289). 

   (ii) Cost of acquisition —Rs. 7,02,000. Date of acquisition 

— 1.8.2001 (CII — 100) 

   (iii) New residential house acquired on 2.2.2020 is  

Rs. 9,50,000. 

  (b)  Mr. Dharun is a film producer. During the year 2019-20 he 

sold a film projector for Rs. 1,70,000 which had cost him 

Rs. 1,50,000 and in respect of which Rs. 40,000 had been 

allowed as depreciation expenses on sales amounts to  

Rs. 5,000. Compute the Capital Gain. 
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 ¤ßÁ¸® ÂÁμ[PøÍ öPõsk •u¼Ú Buõ¯zøu PõsP : 

 (A) Si°¸¨¦ Ãmøh ÂØÓuß £¯ß 26.10.2019 (CII — 289) 
AßÖ ¹. 75,00,000; 1.08.2001 AßÖ Ãmøh Áõ[Q¯ 

Âø» ¹. 7,02,000; 2.2.2020 CII — 100 AßÖ ¦v¯ 

Si°¸¨¦ Ãmøh Áõ[Q¯ Âø» ¹. 9,50,000. 

 (B) v¸. u¸s Gß£Áº J¸ ]Û©õ u¯õ›¨£õÍº BÁõº. AÁº 

2019&20 B® BsiÀ J¸ ]Û©õ Põmk® P¸Âø¯  

¹. 1,70,000US ÂØÓõº. Auß öPõÒ•uÀ Âø»  

¹. 1,50,000 BS®. Auß ÷u´©õÚ® ¹. 40,000 ÂØ£øÚ 

ö\»Ä ¹. 5,000 AÁ¸øh¯ ‰»uÚ Buõ¯zøuU PnUQkP. 

21. Compute Income from other sources for the assessment year 
2020-21. 

  Dividend (gross) from Ashok Leyland Ltd. Rs. 25,000. 

  Dividend from a co-operative society Rs. 5,000. 

  Interim dividend from Rane (Madras) Ltd. Rs. 6,000. 

  Dividend from a foreign company Rs. 26,000. 

  Dividend from UTI Rs. 3,000. 

  Receipts from letting from plant and machinery Rs. 10,000. 

  Repairs to plant and machinery Rs. 300. 

  Insurance premium in respect of plant and machinery Rs. 500.  

 ©v¨¥mk Bsk 2020&21ØPõÚ ¤Ó Buõμ[PÎÀ C¸¢x ö£ØÓ 

Á¸©õÚzøuU PnUQkP. 

 A÷\õU ÷»»sm ¼m {ÖÁÚzv¼¸¢x ö£ØÓ £[Põuõ¯® ¹. 

25,000. 

 TmkÓÄ \[Pzv¼¸¢x ö£ØÓ £[Põuõ¯® ¹. 5,000 

 μõ÷Ú (ö\ßøÚ) ¼m {ÖÁÚzv¼¸¢x ö£ØÓ CøhUPõ»¨ 

£[Põuõ¯® ¹. 6,000. 

 öÁÎ|õmk {ÖÁÚzv¼¸¢x ö£ØÓ £[Põuõ¯® ¹. 26,000. 

 UTI°¸¢x ö£ØÓ £[Põuõ¯® ¹. 3,000. 

 C¯¢vμ \õuÚ[PÒ ‰»® Qøhzu ÁõhøP öuõøP ¹. 10,000. 

 C¯¢vμ \õuÚ[PÒ £Êx£õº¨¦ ö\»ÄPÒ ¹. 300. 

 C¯¢vμ \õuÚ[PÐUPõÚ Põ¨¥mk •øÚ©® ¹. 500. 
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22. Calculate Tax Liability from the following information given by 

Mr. Amit Sharma. He was receiving a salary of 8,000 per month, 

apart from conveyance allowance of 300 per month (150 per 

month actually spent). He had an house whose GAV is 1,50,000. 

Municipal tax 3,000 out of which 1,500 is paid by the tenant. His 

income from other sources comes to 45,000. He has contributed 

40,000 to PPF. He paid Rs. 5,000 towards medical insurance 

premium.  

 v¸. Aªz \º©õÂß ¤ßÁ¸® ÂÁμ[PøÍ öPõsk ö\¾zu¨£h 

÷Ási¯ Á›°øÚ PnUQkP. CÁº ©õu® ¹. 8,000I 

\®£Í©õPÄ® ©õØÖ¨£i ©õu® JßÖUS ¹. 300® ö£ÖQÓõº. 

(ö\»Âh¨£mhx ¹. 150 ©õu® JßÖUS). CÁº öPõskÒÍ 

Ãmiß ö©õzu Bsk ©v¨¦ ¹. 1,50,000 |Pμõm] Á› ¹. 3,000 

CÀ ¹. 1,500 ÁõhøPUPõμº ö\¾zu¨£mhx. CÁμx Cuμ 

Á¸©õÚ® ¹. 45,000; CÁº ¹. 40,000I ö£õx |» ÷\©|» {vUS 

£[PÎzxÒÍõº. CÁº ¹. 5,000zøu ©¸zxÁ Põ¨¥miØS 

•øÚ©©õP ö\¾zv²ÒÍõº.  

23. Discuss briefly the provision of Income Tax Act regarding 

deductions U/S 80 to be made in computing the total income of 

assessee in respect of payments. 

 Á¸©õÚ Á› \mhzvß RÌ Á› ö\¾zx£Á›ß Á›USm£mh 

Á¸©õÚzøu PnUQk® ÷£õx ¤›Ä 80Cß RÌ ö©õzu 

Á¸©õÚzv¼¸¢x ö\¾zxuÀPÍõÚ PÈÄ \μzxUPøÍ _¸UP©õP 

ÂÁ›. 

24. Explain the powers of Central Board of Tax. 

 ÷|μi Á› Âv¨¦ Bøn¯zvß AvPõμ[PøÍ TÖP. 

————————— 


